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�D>4G>F<O ?>4 5D5=4>< AVIORA 4 MF> 7>F>6>5 D5L5=<5 6 >5?4EF< >?5=><E ?5=F. 
�>?55 26 ?5F <O D45>F45< =44 G?GGL5=<5< 4EE>DF<<5=F4 < D47D454FO645< 
=>6O5, D54><5, G=<>4?L=O5 < <==>64F<>= =O5 >?5=><5 ?5=FO < 4>E5E EG4DO. 
�>MF><G 6 MF>< >4F4?>75 6O =4=4UF5 >4> ?>?G?OD =O5 ?5=FO ?D>D5E E<>­
=4?L=>7> >?4EE4, F4> < <=>7> =>6OE ?D>4G>F>6. �E5 ?5D54>6O5 F5E=>?> 7<< 
6 >5?4EF< E4<>>?5OM<EEO <4F5D<4?>6 E>5D4 =O 6 AVIORA 4?O 64E < 64L57> 
5<7=5E4!

&>D7>64O <4D>4 «%��'���» >5N54<=O5F ?>4 E6><< 5D5=4>< 4EE>DF<<5=F 
<><5=F4?L=OE, G=<65DE4?L=OE < E?5F<4?L=OE >?5U6.
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-?5>FD>F5E=<G5E><5 ?5=FO .........................................................................................................................................................................................................................8
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�DF<>G? &65F $47<5D (L × 4),
<< × < &>?M<=4 %>EF46 &5<?5D4FGD4 

M>E??G4F4F<<, °%
�>?-6> 

6 FD4=E?. >>D., LF.

302­213

?D>7D4G.

40 × 0,05 1 << 4>D<?. >?5=, �-&, E<?<>. 5G<474
>F ­20 4> +60

30

303­016 30 × 3 2 << 4>D<?>6O= >?5=, ?4==5D <7 �-& 12

303­013 15 × 3 920 <>< 6E?5=5==O= 4>D<?, ?4==5D <7 �- >F ­30 4> +160 36

303­013
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302­062 302­063 302­064 302­065 302­133

�6GEF>D>==OO <>=F46=4O >?5=>4O ?5=F4 =4 >E=>65 IXPE 
(EL<FO= ?>?<MF<?5=) E >?556O< E?>5< <7 E<=F5F<G5E>>7> 
>4GGG>4 =4 >E=>65 D4EF6>D<F5?5= ?D54=47=4G5=4 
4?O >D5??5=<O ?D54<5F>6 ?D5<<GM5EF65==> =4 
65DF<>4?L=OE ?>65DE=>EFOE. �5=F4 F>?M<=>= 1,2 << 
>55E?5G<645F D46=><5D=>5 ?D<?574=<5 5?47>44DO 
7<5>><G < <O7>><G <4F5D<4?G >E=>6O <7 EL<F>7> 
?>?<MF<?5=4.

�E?>?L7G5FEO 4?O ?D>G=>7> < =44U6=>7> >D5??5=<O 
D47?<G=OE ?D54<5F>6 =4 EF5=O, =4?D<<5D, 75D>4?, 
<>?4<=7>6, ??<=FGE>6, ??4EF<>>6OE 5>D4ND>6, ?D< 
<>=F465 < E>54<=5=<< <5F4??<G5E><E < ??4EF<>>6OE 
>>=EFDG>F<=. �>4E>4<F 4?O <77>F>6?5=<O D5>?4<=OE 
<4F5D<4?>6, E>744=<O 45>>D4F<= =4 ?>65DE=>EFOE <7 
>4D5?O, 45D564, ??4EF<>4, <5F4??4, 55F>=4 < 4D.

�6GEF>D>==<5 E65DE?D>G=O5 
>?5=><5 ?5=FO =4 6E?5=5==>= >E=>65 
4?O >D5??5=<O 75D>4? 

303­016

302­213

�DF<>G? &65F $47<5D (L × 4),
<< × <

&>?M<=4, 
<>< %>EF46 &5<?5D4FGD4 

M>E??G4F4F<<, °%
�>?-6> 

6 FD4=E?. >>D., LF.

302­062 GUD=O= 12 × 10

1200

?4==5D 
<7 E<?<>>=<7<D>64==>= 

5G<47<, <4F5D<4? IXPE 
(EL<FO= ?>?<MF<?5=), 
E<=F5F<G5E><= >4GGG> 

=4 >E=>65 D4EF6>D<F5?5=

>F ­30 4> +80 

72

302­063 55?O=
19 × 10 48

302­064 GUD=O=

302­065 55?O= 25 × 10 36

302­133 GUD=O= 19 × 2 48

�6GEF>D>==<5 E4<>>?5OM<5EO ?DO<>G7>?L=O5 
??4EF<=O ?D54=47=4G5=O 4?O <>=F464 =5FO6U?OE 
?D54<5F>6, =4?D<<5D, >4DF<=, ?>EF5D>6.

• �?5=>>EFL (~200 7 / ??4EF<=4)
• '=<65DE4?L=>5 ?D<<5=5=<5
• �D>7D4G=O5
• �?O ?N5OE F6UD4OE >4=>D>4=OE ?>65DE=>EF5=
• �4==5D ?57>> >F45?O5FEO
• �>6=> D47D574FL =>6=<F4<<
• 20 ??4EF<= (5 ?<EF>6 E 4 ??4EF<=4<< =4 >4=>< 

?<EF5)

�6GEF>D>==OO 4>D<?>64O ?5=F4 (�������&�) 4 
MF> ?D>7D4G=4O 46GEF>D>==OO >?5=>4O ?5=F4 4?O 
D<>E4F<< =5FO6U?OE ?D54<5F>6, =4?D<<5D, >4DF<=, 
?>EF5D>6, F45?<G5>, >DNG>>6, >4?5=44D5=; 4?O 
D<>E4F<< <O7><E =4?>?L=OE ?>>DOF<=.

• �57>> >?5<FEO =4 ?N5O5 ?>65DE=>EF<: <5F4??, 
>5D4<<>4, 45D56>, EF5>?>, <D4<>D, ??4EF<>

• �57>> E=<<45FEO, =5 ?>6D56445F ?>>DOF<5 < =5 
>EF46?O5F E?54>6 (=4 >4=>D>4=OE ?>65DE=>EFOE)

• 3 E< ?5=FO 6O45D6<64NF 4> 150 7

�>D<?>6O5 46GEF>D>==<5 >?5=><5 ?5=FO

�6GEF>D>==OO 4>D<?>64O >?5=>4O ?5=F4 ?D54­
=47=4G5=4 4?O D<>E4F<< M?5<5=F>6 > D47?<G=O< 
?>65DE=>EFO<, 6 F>< G<E?5 EF5>?O==O<.

• %65DE>?5=>4O
• �D>7D4G=4O
• 'EF>=G<64 > G?LFD4D<>?5FG
• &5D<>EF>=>4O/ 6?47>EF>=>4O / 6<5D>EF>=>4O
• �5EE?54=>5 G44?5=<5
• %D>> E?G65O 5>?55 20 ?5F
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�6GEF>D>==<5 >?5=><5 ?5=FO 
=4 6E?5=5==>= >E=>65 

�6GEF>D>==OO >?5=>4O ?5=F4 ?D54=47=4G5=4 4?O 
?D>G=>7> >D5??5=<O =5FO6U?OE ?D54<5F>6 =4 
65DF<>4?L=O5 ?>65DE=>EF<: <>?4<=7<, ??<=FGEO, 
??4EF<>>6O5 5>D4NDO. �>4E>4<F 4?O D47?<G=OE 
F<?>6 ?>65DE=>EF5= (>4D5?L, 45D56>, ??4EF<>, 
<5F4??, 55F>= < F.4.). �E=>64 46GEF>D>==57> 
E>>FG4 <77>F>6?5=4 <7 6E?5=5==>7> -�� 
(MF<?5=6<=<?4F5F4F), 4 >?5=><= E?>= 4 MF> 
>?5= Hot­Melt. �5=F4 >5?4445F ?>6OL5==>= 
<O7>>EFLN < 7<5>>EFLN, F5< E4<O< G65?<G<64O 
??>M44L < >4G5EF6> EF5??5=<O.

�?O 4>EF<65=<O ?GGL5= D<>E4F<< ?5=FO 
=5>5E>4<<> FM4F5?L=> ?>47>F>6<FL E>?5<­
645<O5 ?>65DE=>EF<: >G<EF<FL <E >F 7DO7< < ?O?<, 
>5576<D<FL < 6OEGL<FL. �D>G=>EFL E>?5<64=<O 
=4?DO<GN 746<E<F >F F<?4 E>?5<645<OE ?>­
65DE=>EF5= < <E ?>47>F>6>< ?5D54 E>?5<64­
=<5<. �5 <E?>?L7>64FL <>=F46=GN 46GEF>D>=­
=NN ?5=FG =4 EFDG>FGD<D>64==OE < =57?44><E 
?>65DE=>EFOE. �4>E<<4?L=4O ?D>G=>EFL E>54<­
=5=<O 4>EF<745FEO G5D57 24 G4E4.

302­013302­012 302­016

�DF<>G? &65F $47<5D (L × 4), 
<< × < &>?M<=4, <>< %>EF46 &5<?5D4FGD4 

M>E??G4F4F<<, °%
�>?-6> 

6 FD4=E?. >>D., LF.

302­012 GUD=O= 12 × 10

1200
MF<?5=6<=<?4F5F4F (EVA), 

E<=F5F<G5E><= >4GGG>, 
E<?<>>=<7. 5G<474

>F ­10 4> +70

150

302­013

55?O=

9 × 10 180

302­020 19 × 10 90

302­021 25 × 10 72 

302­016 24 × 2 180

�6GEF>D>==<5 >?5=><5 ?5=FO =4 ?>?<?D>?<?5=>6>= >E=>65 (��) 

�6GEF>D>==<5 >?5=><5 ?5=FO =4 F>4=56>= >E=>65 (&�)

�6GEF>D>==OO >?5=>4O ?5=F4 =4 «L5?>>6>-5G<46=>=» >E=>65 (,�) 

�6GEF>D>==OO ?D>7D4G=4O >?5=>4O ?5=F4 =4 ?>?<?D>?<?5=>6>= >E=>65 (����) E >>=F4>F=O< 
>?55< Hot­Melt ?D54=47=4G5=4 4?O >D5??5=<O =5FO6U?OE ?D54<5F>6, =4?D<<5D, D>F>7D4D<=, 
>4DF<=, 6<45>D57<EFD4F>D>6, =55>?LL<E F45?<G5>, 465D=OE =><5D>6. ,<D>>> <E?>?L7G5FEO 4?O 
?>4>?5=>< >>6<, D5<>=F4 >5G6<. �>4E>4<F 4?O F6>DG5E><E D45>F: E>D4?5G><=7, D>F>4?L5><O, GD>>< 
F5E=>?>7<< 6 L>>?4E. �5 D5>><5=4G5FEO <E?>?L7>64FL ?5=FG =4 EFDG>FGD<D>64==OE ?>65DE=>EFOE. 
�E=>64 ?5=FO 45?45F 5U >G5=L ?D>G=>=, 4 =4=>E<FL ?5=FG <>6=> ?D< F5<?5D4FGD5 4> ­5°%.

�6GEF>D>==OO >?5=>4O ?5=F4 =4 F>4=56>= >E=>65 (F>4=56O= <4F5D<4? E >F>DOFO<< >F65DEF<O<<) 
E >?55< Hot­Melt ?D54=47=4G5=4 4?O D<>E4F<< =4?>?L=OE ?>>DOF<= < >D5??5=<O =5FO6U?OE 
?D54<5F>6. �5=F4 >5?4445F 6OE>>>= 7<5>>EFLN, <O7>>EFLN < D4EFO6<<>EFLN, GF> ?>76>?O5F 
?D<<5=OFL 5U =4 EFDG>FGD<D>64==OE < 7DG5OE ?>65DE=>EFOE. �5=F4 E>D>L> =4>?5<645FEO =4 
>D><><, F>G=> ?>6F>DOO 6E5 <77<5O ?>65DE=>EF<. 

�5=F4 ?D<<5=O5FEO 4?O =4>?5<64=<O =4 7>D<7>=F4?L=O5 ?>65DE=>EF< ?<=>?5G<4, >>6D>6OE 
< 4DG7<E =4?>?L=OE ?>>DOF<=, 4?O 6O65L<64=<O ??4>4F>6, D>F>7D4D<=, ?>EF5D>6, ?>?>F5= < 
4DG7<E 5G<46=OE <745?<=, =5FO6U?OE >D>D<<F5?LE><E < 45>>D4F<6=OE M?5<5=F>6 <=F5DL5D4, 
4?O >D5?564 ?4=5?5= < ?U7><E >>=EFDG>F<=. �E?>?L7G5FEO 4?O <>=F46=OE, D5<>=F=OE < 
>F45?>G=OE D45>F, 6 <555?L=>< ?D><76>4EF65 < =4 ?>?<7D4D<G5E><E ?D54?D<OF<OE.

�6GEF>D>==OO >?5=>4O ?5=F4 =4 LU?>>6>­5G<46=>= >E=>65 ?D54=47=4G5=4 4?O =4>?5<64=<O 
=5FO6U?OE ?D54<5F>6 =4 7?44><5 7>D<7>=F4?L=O5 < 65DF<>4?L=O5 ?>65DE=>EF< 
(6O65L<64=<5 ??4>4F>6, D>F>7D4D<=, ?>EF5D>6, ?>?>F5= < 4DG7<E 5G<46=OE <745?<=, 
=5FO6U?OE >D>D<<F5?LE><E < 45>>D4F<6=OE M?5<5=F>6 <=F5DL5D4). %>?55==O5 E ?><>MLN 
,�­?5=FO 5G<474 <?< >4DF>= ?>465D74NFEO 6F>D<G=>= ?5D5D45>F>5 557 G44?5=<O ?5=FO. 
�E=>6=>5 ?D<<5=5=<5 ?5=FO 4 E>D4?5G><=7 4?O ?D<>?5<64=<O D>F>7D4D<=.

303­007

303­008

303­009

�DF<>G? &65F
$47<5D 
(L × 4), 
<< × <

&>?M<=4, 
<>< %>EF46

&5<?5D4FGD4 
M>E??G4F4F<<, 

°%

�>?-6> 
6 FD4=E?. 
>>D., LF.

303­005
?D>7D4G.

50 × 10
95

E<?<>>=<7. 5G<., ���� 
??U=>4, >>=F4>F=O= E<=F5F. 

>4GGG>. >?5=
>F ­20 4> +70 36

303­007 50 × 25

�DF<>G? &65F
$47<5D 
(L × 4), 
<< × <

&>?M<=4, 
<>< %>EF46

&5<?5D4FGD4 
M>E??G4F4F<<, 

°%

�>?-6> 
6 FD4=E?. 
>>D., LF.

303­006
55?O=

50 × 10
200

7?4EE<=>64O 5G<474, 
F>4=56O= <4F5D<4? 

E >F>DOFO<< >F65DEF<O<<, 
>?5= Hot­Melt

>F ­20 4> +70 36
303­008 50 × 25

�DF<>G? &65F
$47<5D 
(L × 4), 
<< × <

&>?M<=4, 
<>< %>EF46

&5<?5D4FGD4 
M>E??G4F4F<<, 

°%

�>?-6> 
6 FD4=E?. 
>>D., LF.

303­009 ?D>7D4G. 50 × 10 85
5G<474 E �-, L5?>>64O 

5G<474, 4>D<?>6O= 
>>=F4>F=O= >?5= =4 

D4EF6>D<F5?OE
>F ­20 4> +70 36
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305­101 305­102
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�D>D5EE<>=4?L=O5 ��%­<7>?5=FO <<5NF 5ó?LL<5 L<D<=G < F>?M<=G < ?D54=47=4G5=O
4?O ?D>D5EE<>=4?L=>7> ?D<<5=5=<O.

• �5 7>D<F
• $4EFO65=<5 5>?55 250)%
• �4?DO65=<5 =4 ?D>5>= 7000 V
• %>>F65FEF6G5F ��%& 16214­86
• %5DF<D<>4F<O RoHS
• �4M<F4 >F ?>445?>< 4 5D5=4<D>64==O= E?>=

305­005

305­059

��%-<7>?5=FO

�45>DO ��%-<7>?5=F

�45>DO <>D>7>EF>=><E ��%-<7>?5=F

��%­<7>?5=FO ?D54=47=4G5=O 4?O 6E5E 6<4>6 M?5>FD><>=F46=OE D45>F: M?5>FD><7>?OF<O 
?D>6>4>6, ED4M<64=<5 < 67GF<D>64=<5, F65F>64O <4D><D>6>4.

• �5 7>D<F
• $4EFO65=<5 5>?55 220)%
• �4?DO65=<5 =4 ?D>5>= 6000 V
• %5DF<D<>4F<O RoHS
• �4M<F4 >F ?>445?>< 4 5D5=4<D>64==O= E?>=

�>D>7>EF>=>4O ��%­<7>?5=F4 ?>76>?O5F >EGM5EF6?OFL <>=F46 
?D< >FD<F4F5?L=OE F5<?5D4FGD4E.

• �>=F46 ?D< F5<?5D4FGD5 4> ­15  °C
• %>ED4=O5F M?4EF<G=>EFL ?D< >FD<F4F5?L=OE F5<?5D4FGD4E
• �4?DO65=<5 =4 ?D>5>= 8000 V
• -?4EF<G=>EFL 4> 250)%
• �5 ?>445D6<645F 7>D5=<5
• 'EF>=G<64 > '$

�DF<>G? &65F $47<5D (L × 4), 
<< × <

&>?M<=4, 
<>< %>EF46 &5<?5D4FGD4 

M>E??G4F4F<<, °%
�>?-6> 

6 FD4=E?. >>D., LF.

305­004
305­005
305­062
305­057
305­060
305­061
305­059

GUD=O=
E<=<=

75?U=O=
>D4E=O=

55?O=
6U?FO=

6U?F>­75?U=O=

15 × 20 130 ��%, 
>4GGG>>6O= 

>?5=
>F ­30 4> +80

200

100

305­058 E<=<= 15 × 10 130 150

�DF<>G? &65F $47<5D (L × 4), 
<< × <

&>?M<=4, 
<>< %>EF46 &5<?5D4FGD4 

M>E??G4F4F<<, °%
�>?-6> 

6 FD4=E?. >>D., E?4=>4

305­101 GUD=O= 19 × 10 165

��%, 
>4GGG>>6O= >?5=

>F ­50 4> +80 20

305­102 GUD=O=, E<=<=, 55?O=, 
>D4E=O=, 6U?FO= 15 × 10 130 >F ­30 4> +80 30

305­063 GUD=O=
19 × 20 180 >F ­50 4> +80 10

305­064 E<=<=

305­059305­061

305­062 305­057

305­060

305­004 305­005

305­058

�DF<>G? &65F $47<5D (L × 4), 
<< × <

&>?M<=4, 
<>< %>EF46 &5<?5D4FGD4 

M>E??G4F4F<<, °%
�>?-6> 

6 FD4=E?. >>D., LF.

305­030 
305­031 
305­032 
305­033
305­034
305­035
305­036

GUD=O=
E<=<=

>D4E=O=
6U?FO=

75?U=O=
55?O=

6U?F>­75?U=O=

19 × 20 165
��%, 

>4GGG>>6O= 
>?5=

>F ­50 4> +80 100

305­035

305­030 305­031 305­033305­032

305­034 305­036

305­032

305­030

�D>D5EE<>=4?L=O5 ��%-<7>?5=FO

-���&$�&�%��'�%��� ���&/
305­004

305­063 305­064
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�D<<5=ONFEO 4?O E>?5<64=<O >4DF>=4, G?4>>6>< 
7DG7>6 < >F?<G4NFEO ?D>G=>EFLN, 4>?7>65G=>EFLN, 
<>D>7>EF>=>>EFLN, GEF>=G<6>EFLN > 6?46=>EF<, 
D4EF6>D<F5?O< < ?5D5?444< F5<?5D4FGD.

�E=>64 G?4>>6>G=>= ?5=FO E45?4=4 <7 ���� 
(46G>E=>­>D<5=F<D>64==O= ?>?<?D>?<?5=), >>F>­
DO= >5?4445F 5>?55 ?D>G=O<< E6>=EF64<<, G5< 
>5OG=O= ?>?<?D>?<?5=. � >4G5EF65 >?556>7> E?>O 
<E?>?L7G5FEO 4>D<?>6O= >?5= 4?O 5>?55 =44U6=>7> 
E>?5<64=<O G?4>>6><. 

'?4>>6>G=4O ?5=F4 <<55F F>?M<=G 50 <><, GF> 45?4­
5F ?5=FG 5>?55 ?D>G=>= ?> ED46=5=<N E 4DG7<<< 
?D54?>65=<O<< =4 DO=>5. 

• �D>G=4O <7 ���� (46G>E=>­>D<5=F<D>64==O= 
?>?<?D>?<?5=)

• &>?M<=4 50 <><
• �OE>>4O 44757<O (4>D<?>6O= >?5=)
• &>G=4O =4<>F>4 (66 <)
• �>6=> <E?>?L7>64FL E 4<E?5=E5D><

%4<>E?<?4NM4OEO <7>?5=F4 =4 >E=>65 >4GGG>4 

%4<>E?<?4NM4OEO <7>?5=F4 4 MF> E4<>6G?>4=<7<DGNM4OEO <7>?5=F4 =4 >E=>65 >4GGG>4 4?O 
E>744=<O <>=>?<F=>7> E?>O M?5>FD><7>?OF<<. �7>?5=F4 ?D54EF46?O5F E>5>= ?5=FG 557 >?556>7> 
E?>O E> E?>E>5=>EFLN E?<?4FLEO ?>4 6>745=EF6<5< 6>74GE4 < >5D47>6O64FL 54<=O= <>=>?<F=O=, 
?>?=>EFLN 75D<5F<G=O= E?>=. 

%4<>E?<?4NM4OEO ?5=F4 <E?>?L7G5FEO 4?O M?5>FD><7>?OF<< ?D>6>4>6 ?D< ?D>6545=<< 
M?5>FD><>=F46=OE D45>F; 4?O G??>F=5=<O D47?<G=OE E>54<=5=<=, =4?D<<5D, ��%­FDG5; 4?O 
E>744=<O 7<4D><7>?OF<>==>7> E?>O. �5=F4 >5?4445F 6OE>>>= EF5?5=LN 74M<FO >F ?D>5>O, 4 F4>65 
?>76>?O5F <E?>?L7>64FL =5?>46<6=>5 E>54<=5=<5 6 GE?>6<OE 6OE>>>= 6?46=>EF<. 

� >F?<G<5 >F >5OG=OE <7>?5=F, 6 >>F>DOE >?5= E> 6D5<5=5< < ?>4 6>745=EF6<5< '$ </<?< ?5D5?44>6 
F5<?5D4FGD D47DGL45FEO < F5< E4<O< =4DGL45F 75D<5F<G=>EFL E>54<=5=<O, 6 E4<>E?<?4NM5=EO 
?5=F5 >FEGFEF6G5F >?5=, ?>MF><G E>54<=5=<5 ED47G EF4=>6<FEO 75D<5F<G=O< < =5 ?>465D65=> 
6?<O=<N 6=5L=<E D4>F>D>6.

• �4?DO65=<5 ?D>5>O: 25 000 V 
• �?47>EF>=>4O 
• �5 7>D<F 
• %>7445F <>=>?<F=O= E?>=

%�-<7>?5=FO

%?>?G4F>5G<46=4O <7>?5=F4 ?D54=47=4G5=4 4?O <5E4=<G5E>>= 74M<FO < M?5>FD<G5E>>= <7>?OF<< 
?D>6>4>6. �7>?5=F4 <<55F D>6=GN EFDG>FGDG F>4=56>= >E=>6O < >4G5EF65==O= E?>= >?5O <7 
=4FGD4?L=>7> >4GGG>4, >>F>DO= ?>?=>EFLN ?D>?<FO645F ?5=FG. %�­<7>?5=F4 <<55F 6OE>>GN < 
=44U6=GN 44757<N (>?5=>>EFL) > <7>?<DG5<O< ?D>6>44< < > E4<>= E555. ,<D>>> <E?>?L7G5FEO 
6 5OFG 6 >4G5EF65 E?>DF<6=>= ?5=FO, =4?D<<5D, 4?O >5<>F>< >?NL5> <?< DG>>OF>> <=EFDG<5=F4. 
�E=>6=O< ?D5<<GM5EF6>< E?>?G4F>5G<46=>= <7>?5=FO O6?O5FEO 5U <>D>7>EF>=>>EFL, F.>. 5U <>6=> 
=4=>E<FL ?D< G<5D5==> =<7><E F5<?5D4FGD4E (4> ­10 °C). �<<>= =5 4G555F, ?5F>< =5 D4E?>?745FEO >F 
?>6OL5==>= F5<?5D4FGDO.

• $>6=4O EFDG>FGD4 F>4=56>= >E=>6O
• �5 ??46<FEO 6 >F?<G<5 >F ��%
• �4?DO65=<5 ?D>5>O 800 �
• �>D>7>EF>=>4O (4> ­50°C)
• %D>> 7>4=>EF<: 4 7>44
• $6UFEO DG>4<<

�DF<>G? &65F $47<5D (L × 4), 
<< × <

&>?M<=4, 
<>< %>EF46 &5<?5D4FGD4 

M>E??G4F4F<<, °%
�>?-6> 

6 FD4=E?. >>D., LF.

305­045
GUD=O=

15 × 20 460 E?>?>>64O F>4=L, 
>?5= =4 >E=>65 

=4FGD4?L=>7> >4GGG>4
>F ­50 4> +80

90

305­046 19 × 7 420 120

305­045

305­046

305­026

'?4>>6>G=O5 >?5=><5 ?5=FO

'������'�/� ���&/

�DF<>G? &65F $47<5D (L × 4), << × < &>?M<=4, <>< %>EF46 �>?-6> 
6 FD4=E?. >>D., LF.

301­001 ?D>7D4G=O= 50 × 66 50
46G>E=>­>D<5=F<D>64==O= 

?>?<?D>?<?5= (����),  
>?556>= E?>=

36

301­001

-
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�DF<>G? &65F $47<5D (L × 4),
<< × <

&>?M<=4, 
<>< %>EF46 &5<?5D4FGD4 

M>E??G4F4F<<, °%
�>?-6> 

6 FD4=E?. >>D., LF.

305­026 GUD=O= 15 × 5 800 MF<?5=?D>?<?5=>64O 
D57<=4 (EPDM) >F ­50 4> +90 60
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�4?OD=O5 >D5?<D>64==O5 >?5=><5 ?5=FO 

�4?OD=O5 >?5=><5 ?5=FO 
4?O 45?<>4F=OE ?>65DE=>EF5=

���&/ � ��-�&�/� 
������ ��/ ���/$�/% 
� �&����'�/% $���&

�D5?<D>64==4O <4?OD=4O ?5=F4 ?D54=47=4G5=4 4?O D477D4­
=<G5=<O 7>= >>D4L<64=<O ?D< ?D>6545=<< <4?OD=OE 
D45>F. �5=F4 <<55F >>=F4>F=O= >?556>= E?>= =4 >E=>65 
=4FGD4?L=>7> >4GGG>4, 4 D>D<G?4 >?5O ?>4>5D4=4 F4><< 
>5D47><, GF>5O ?5=F4 >F?<G=> < =44U6=> ?D<>?5<64?4EL, 
=> ?D< MF>< ?57>> G44?O?4EL ?>E?5 7465DL5=<O <4?OD=OE 
D45>F, =5 >EF46?OO E?54>6 >?5O =4 ?>65DE=>EF<.

• �44U6=> ?D<>?5<645FEO
• �5 >EF46?O5F E?54>6 >?5O ?D< G44?5=<<
• �5 4>?GE>45F ?>4F5>4=<O >D4E>< ?> >D4O<
• �5 ?D>?GE>45F >D4E>G
• �FDO645FEO DG>4<<
• �<55F GUF>> 74O6?5==GN =4<>F>G
• �<55F D>6=O5 >D4O

�4?OD=4O ?5=F4 4?O 45?<>4F=OE ?>65DE=>EF5= ?D54­
=47=4G5=4 4?O D4745?5=<O >>D4L<645<OE ?>65DE=>EF5= 
6=GFD< ?><5M5=<=. �5=F4 6O?>?=5=4 <7 O?>=E>>= D<E>6>= 
5G<47< < <454?L=> ?>4E>4<F 4?O 45?<>4F=OE ?>65DE=>EF5=, 
745 646=> =5 ?>6D54<FL ?>65DE=>EFL 6> 6D5<O ?>>D4E>G=OE 
D45>F. �5 D5>><5=4G5FEO <E?>?L7>64FL ?5=FG =4 ED54=5 < 
E<?L=> EFDG>FGD<D>64==OE ?>65DE=>EFOE, ?>65DE=>EFOE E 
6>DE>< < <O7><E 5G<46=OE ?>65DE=>EFOE.

• 'UF><5 < D>6=O5 ?<=<< ?D< >>D4L<64=<<
• �5 >EF46?O5F E?54>6 >?5O
• �5 ?>6D56445F ?>65DE=>EF<
• �5 ?D>?GE>45F >D4E>G
• &>=>4O >E=>64 (100 <><)

�DF<>G? &65F $47<5D (L × 4),
<< × < &>?M<=4, <>< %>EF46 &5<?5D4FGD4 

M>E??G4F4F<<, °%
�>?-6> 

6 FD4=E?. >>D., LF.

304­077
D>7>6O=

25 × 50
100 D<E>64O 5G<474, 4>D<?>6O= >?5= 

=4 6>4=>= >E=>65 +10 4> +35
24

304­078 50 × 50 12

�DF<>G? &65F $47<5D (L × 4),
<< × < &>?M<=4, <>< %>EF46 &5<?5D4FGD4 

M>E??G4F4F<<, °%
�>?-6> 

6 FD4=E?. >>D., LF.

304­004

E65F?>­
55656O=

48 × 40 125

>D5?<D>64==4O 5G<474, 
=4FGD4?L=O= >4GGG>>6O= >?5= >F ­10 4> +60 

24

304­006 19 × 50

140

48

304­007 25 × 50 36

304­009 38 × 50
24

304­010 50 × 50

304-007

304-078304-077
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%4<>>?5OM4OEO E5D?O=>4

%4<>>?5OM4OEO E5D?O=>4 ?D54EF46?O5F E>5>= 4D<<D>64==GN 
E5F>G <7 EF5>?>6>?>>=4 E >?556O< E?>5< <7 E<=F5F<G5E>>7> 
>4GGG>4, ?D54=47=4G5==GN 4?O ?>47>F>6>< ?>65DE=>EF5= 
> ?>E?54GNM<< <4?OD=>­LFG>4FGD=O< D45>F4<. %5D?O=>4 
L<D>>> <E?>?L7G5FEO 4?O G>D5??5=<O EFO>>6 ?4=5?5=; 
E??>L=>7> 4D<<D>64=<O EF5= < ?>F>?>>6; >5D45>F>< L6>6, 
FD5M<=, M5?5=; G>D5??5=<O >>>==OE < 465D=OE ?D>U<>6 6 
<5EF4E D<>E4F<<; 4D<<D>64=<O 6=5L=<E G7?>6; ?>47>F>6>< 
?>65DE=>EF5= > >LFG>4FGD<64=<N.

• �F?<G=>5 EF5??5=<5 E >D74?<F><, ���, �%� < 7<?E>>4DF>=><
• �5><5FD<G5E>< D>6=4O < EF45<?L=4O EFDG>FGD4   

(OG5=>< 2,85 << E 2,85 <<)
• �?556>= E?>=: E<=F5F<G5E><= >4GGG>
• �D>G=4O E5F>4 <7 EF5>?>6>?>>=4: =5 D6UFEO 
• '65?<G<645F ED>> E?G65O >F45?>G=>7> <4F5D<4?4

�DF<>G? &65F $47<5D (L × 4),
<< × < $47<5D OG55>, << %>EF46 �>?-6> 

6 FD4=E?. >>D., LF.

302­025

55?O=

150 × 20

2,85 × 2,85 EF5>?>6>?>>=4 (60 7 / <2), 
E<=F5F<G5E><= >4GGG>

40

302­105 50 × 20 80

302­106 50 × 90 24

302­107 50 × 50 48

302­107302­106302­105

302­025

�4E>5D 4 MF> 74M<F=4O ??U=>4, ?D><76545==4O <7 ?>?<MF<?5=4 
6OE>>>7> 446?5=<O (���), E >?5=>>= >D5?<D>64==>= ?5=F>= ?> 
6E5= 4?<=5 ?>?>F=4. �4?<G<5 >D5?<D>64==>= ?5=FO ?>76>?O5F 
??>F=> ?D<>D5?<FL ?>?>F=> > 74M<M45<>= ?>65DE=>EF<, 
=44U6=> >7D4644O GG4EF>> D45>G5= ?>65DE=>EF< >F ?>?444=<O 
>D4E><, LFG>4FGD><, 6?47<, 7DO7< <?< ?O?<. �D54=47=4G5=4 4?O 
74M<FO ?>65DE=>EF5= EF5=, ?>F>?>>6, ?>?4, <555?<, M?5<5=F>6 
<=F5DL5D4 ?D< D5<>=F=OE < ?>>D4E>G=OE D45>F4E 6=GFD< < 
E=4DG6< ?><5M5=<O. �D< 46F>?>>D4E>G=OE D45>F4E ??U=>4 
74M<M45F =5>>D4L<645<O5 G4EF< < E4?>= 46F><>5<?O >F 
?>?444=<O >D4E><.

�DF<>G? &65F $47<5D (L × 4), < &>?M<=4, <>< %>EF46 &5<?5D4FGD4 M>E??G4F4F<<, °% �>?-6> 
6 FD4=E?. >>D., LF.

�4M<F=4O ??U=>4 E <4?OD=>= ?5=F>=

302­038

?D>7D4G=O=

1,4 × 15

7

���, 
>D5?<D. 5G<474 

E >?556O< 
E?>5< (?5=F4)

>F ­40 4> +80 

30
302­040 1,8 × 15

302­041 2,4 × 15 24

302­210 2,7 × 20 30

'>DO6=4O ??U=>4 (557 >?556>7> E?>O)

402­565

?D>7D4G=O=

4 × 12,5 6

��� >F ­40 4> +80

10

402­397 4 × 5 5 50

302-040

302-038

�4M<F=O5 ??U=>< E <4?OD=>= ?5=F>=

302-210

302-041

402-397
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�5=F4 4?O 74M<FO F5D<><7>?OF<< 4 MF> 
��%­?5=F4 557 >?556>7> E?>O 4?O 74M<FO >F 
D47DGL4NM57> 6>745=EF6<O '$­?GG5=, >F 
<5E4=<G5E><E ?>6D5645=<=, 6?47< < 4DG7<E 
=55?47>?D<OF=OE ?>7>4=OE O6?5=<=. �>4E>4<F 
4?O 74M<FO ?>D<EF>7> F5??><7>?OF<>==>7> 
?>>DOF<O, <54=OE <565?>G=OE >><<G=<>4F<= 
>?<<4F<G5E>>= F5E=<><, <47<EFD4?5= >F>?<­
F5?L=OE < 65=F<?OF<>==OE E<EF5<. 

• �4M<M45F >F '$­?GG5=
• �55E?5G<645F <5E4=<G5E>GN 74M<FG
• %?G6<F 4?O F5??><7>?OF<<
• �44>?7> E64F45F (??>F=4O < L<D>>4O)
• �5 D6UFEO 6 DG>4E
• '4>5=> =4=>E<FL 5?47>44DO 6UEF>>= 6FG?>5
• �5 7>D<F

���&/ ��/ &����- 
� ���$�����/&��

�DF<>G? &65F $47<5D (L × 4),
<< × <

&>?M<=4, 
<>< %>EF46 &5<?5D4FGD4 

M>E??G4F4F<<, °%
�>?-6> 

6 FD4=E?. >>D., LF.

302­158 55?O=

75 × 50 85 ��% (557 >?556>7> E?>O) >F ­30 4> +80

24

302­214 GUD=O=
12

302­215 E5DO=

�5=FO 4?O 74M<FO F5D<><7>?OF<<

302-158 302-215302-214

�?N<<=<564O >?5=>4O ?5=F4 ?D54=47=4G5=4 4?O 75D<5F<74F<< < F5D<><7>?OF<< 
D47?<G=OE E>54<=5=<= 6 <5EF4E E =<7>>= (4> ­40°%) < 6OE>>>= (4> +130°%) F5<?5D4FGD>=. 
�4DG6=O= E?>= E4<>>?5OM5=EO 4?N<<=<56>= ?5=FO <>6=> >>D4L<64FL ?>4 F65F 
>D>6?<, =5EGM<E EF5=, FDG5>?D>6>4>6 < 65=F<?OF<>==OE >4=4?>6. �E?>?L7GNFEO 4?O 
75D<5F<74F<< < <7>?OF<< EFO>>6 < F5E=>?>7<G5E><E L6>6; ?D< <>=F465 65=F<?OF<<, 
6>74GE>6>4>6 < <=65=5D=OE >><<G=<>4F<=; 4?O F5D<><7>?OF<<; 4?O M?5>FD><7>?OF<< 
«7D5NM57> ?D>6>44»; 4?O 74M<FO >F '$­<7?GG5=<O; 4?O D5<>=F4 < F5E=<G5E>>7> 
>5E?G6<64=<O FDG5>?D>6>4>6, 65=F<?OF<>==OE >4=4?>6, >D>6?<. �>?>?=<F5?L=> 
4?N<<=<56O= E>>FG <>65F <E?>?L7>64FLEO 4?O E>744=<O 45>>D4F<6=OE MDD5>F>6 =4 
<555?<, EF5=4E < 4DG7<E ?>65DE=>EFOE. 

�?N<<=<564O 4D<<D>64==4O >?5=>4O ?5=F4 (302-047) ?D54=47=4G5=4 4?O 75D<5F<74F<< 
EFO>>6 < F5E=>?>7<G5E><E L6>6 ?D< <>=F465 6>74GE>6>4>6, <=65=5D=OE >><<G=<>4F<=, 
>FD464NM5= <7>?OF<<, ?D< EFD><F5?LEF65 >D>65?L=OE < ?>4>D>65?L=OE >>=EFDG>F<=, 
4 F4>65 ?D< 6O?>?=5=<< D5<>=F=OE < 6>EEF4=>6<F5?L=OE D45>F, 745 FD55G5FEO 
4>?>?=<F5?L=>5 =4FO65=<5 ?5=FO <?< 4?O 4>?>?=<F5?L=>= ?D>G=>EF< E>54<=5=<O.

302-196302-047302-009

�?N<<=<56O5 >?5=><5 ?5=FO

302-051

302-052

302-160

302-208

�DF<>G? &65F
$47<5D 
(L × 4), 
<< × <

&>?M<=4, 
<>< %>EF46

&5<?5D4FGD4 
M>E??G4F4F<<, 

°%

�>?-6> 
6 FD4=E?. 
>>D., LF.

302­009

E5D55D<EFO=

50 × 50

60 4?N<<=<564O D>?L74, 
4>D<?>6O= >?556>= E?>= 
=4 >E=>65 D4EF6>D<F5?5=, 

E<?<>>=<7<D>64==4O 
74M<F=4O ??U=>4

>F ­40 4> +130

24

302­051 75 × 50 16

302­052 100 × 50 12

302­196 50 × 10 36

302­160 48 × 40 43

24

302­208 50 × 50 60

302­047 
(4D<<D>64==4O) 50 × 50 170

4?N<<=<564O 
D>?L74, 4D<<DGNM<5 

EF5>?>6>?>>=4, 
4>D<?>6O= >?556>= E?>= 
=4 >E=>65 D4EF6>D<F5?5=, 

E<?<>>=<7<D>64==4O 
74M<F=4O ??U=>4 E �- 

?>>DOF<5<

>F ­40 4> +120
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�5F4??<7<D>64==O5 >?5=><5 ?5=FO
�5F4??<7<D>64==O5 >?5=><5 ?5=FO ?D54=47=4G5=O 4?O 
75D<5F<74F<< < F5D<><7>?OF<< D47?<G=OE E>54<=5=<= 6 
<5EF4E E =<7>>= < ED54=5= F5<?5D4FGD>= (4> +80 °%).

�E=>6=O5 ED5DO ?D<<5=5=<O: 75D<5F<74F<O, <7>?OF<O 
EFO>>6 < F5E=>?>7<G5E><E L6>6; <>=F46 65=F<?OF<<, 
6>74GE>6>4>6 < <=65=5D=OE >><<G=<>4F<=; 
F5D<><7>?OF<O; 74M<F4 >F '$­<7?GG5=<O; D5<>=F 
< F5E=<G5E>>5 >5E?G6<64=<5 FDG5>?D>6>4>6, 
65=F<?OF<>==OE >4=4?>6, >D>6?<.

• $45>F45F 6 4<4?47>=5 >F ­40 °% 4> +80 °%
• �D<>?5<645FEO > D47?<G=O< <4F5D<4?4<: 55F>=, 

45D56>, ??4EF<>, <5F4??
• �>4E>4<F 4?O <>=F464 ?D< >FD<F4F5?L=OE 

F5<?5D4FGD4E
• �44U6=> 75D<5F<7<DG5F
• �?47>EF>=>4O
• �D>G=4O >E=>64 <7 ���� (55 <><)
• �4M<M45F >F >>=45=E4F4

�5 D5>><5=4G5FEO <E?>?L7>64FL <5F4??<7<D>64==GN 
?5=FG 4?O 75D<5F<74F<< ?>65DE=>EF5=, >>F>DO5 
=47D564NFEO 6OL5 +80 °%. �E?< F5<?5D4FGD4 
M>E??G4F4F<< ?D56OL45F +80 °%, F> D5>><5=4G5FEO 
<E?>?L7>64FL 4?N<<=<56GN ?5=FG AVIORA.

�DF<>G? &65F $47<5D (L × 4), 
<< × <

&>?M<=4, 
<>< %>EF46 &5<?5D4FGD4 

M>E??G4F4F<<, °%
�>?-6> 

6 FD4=E?. >>D., LF.

302­017
E5D55D<EFO= 50 × 50 50

?>?<?D>?<?5= (����),
4?N<<=<56>5 =4?O?5=<5,
4>D<?>6O= >?556>= E?>=

=4 6>4=>= >E=>65
>F ­40 4> +80 36

302­199

302-090

302-162

302-161

�D<<D>64==4O ?5=F4 &�� 4 MF> G=<65DE4?L=4O >?5=>4O 
?5=F4 <7 ?D>G=>7> ?>?<MF<?5=4, GE<?5==>7> F>4=56O<< 
6>?>>=4<< 6 ?D>4>?L=>< < ?>?5D5G=>< =4?D46?5=<OE, 
< E >?556O< E?>5< <7 E<=F5F<G5E>>7> >4GGG>4. �5=F4 
?D<<5=O5FEO 4?O D5<>=F4 < D<>E4F<<, 4?O >D5??5=<O 
<O7><E =4?>?L=OE ?>>DOF<= =4 6OEF46>4E, 4?O >5<>F>< 
?>6D5645==OE FDG5, G>D5??5=<O M5?5= < EFO>>6 FDG5, 
4?O 75D<5F<74F<< L6>6, ?4=5?5= < >>D?GE>6.

• �OE>>4O >?5=>>EFL 
• �D>G=>EFL (GE<?5=4 F>4=56O<< 6>?>>=4<<)
• 'EF>=G<6>EFL > F5<?5D4FGD=O< ?5D5?444<
• �?47>EF>=>>EFL
• �>6=> 45?4FL =44?<E< DGG>>=
• �D5?<FEO > ?N5>= ?>65DE=>EF<
• %>>F65FEF6<5 74O6?5==O< ?4D4<5FD4<

�DF<>G? &65F $47<5D (L × 4), 
<< × <

&>?M<=4, 
<>< %>EF46 &5<?5D4FGD4 

M>E??G4F4F<<, °%
�>?-6> 

6 FD4=E?. >>D., LF.

302­090
E5DO=

50 × 10 160

?>?<MF<?5=, F>4=56O5 6>?>>=4, 
E<=F5F<G5E><= >4GGG>>6O= >?5= 

Hot­Melt
>F ­40 4> +70 

72 

302­161

48 × 50 180 24 302­162 GUD=O=

302­177 55?O=

302-177

�D<<D>64==O5 6?47>EF>=><5 >?5=><5 
?5=FO (TPL)

302-199
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302-050 302-179

�5=F4 4?O 75D<5F<74F<< <E?>?L7G5FEO 4?O 74M<FO 
?>65DE=>EF< FDG5 >F 47D5EE<6=OE 6>745=EF6<= 6=5L=5= 
ED54O < 4?O ?D54>F6D4M5=<O >>DD>7<<. �5=F4 ??>F=> 
?D<?5745F > ?>65DE=>EF< < ?D54>F6D4M45F >5D47>64=<5 
>>=45=E4F4 =5?>ED54EF65==> =4 FDG55.

�E=>6=>5 ?D<<5=5=<5 75D<5F<7<DGNM5= ?5=FO 4 MF> 
?D>D<?4>F<>4 ?>O6?5=<O >>DD>7<< =4 =5?>6D564U==OE 
FDG54E, ?>465D65==OE F5<?5D4FGD=O< ?5D5?444<.

�5=F4 4?O 75D<5F<74F<< F4>65 ?D<<5=O5FEO 4?O E>?5=>< 
��%­7<4D><7>?OF<<, 4?O >5<>F>< F5??><7>?OF<< FD4EE 
>>=4<F<>=5D>6, 4?O 75D<5F<74F<< L?4=7>6, =5 =4E>4OM<EEO 
?>4 446?5=<5<, < ?D.

• �OE>>4O >?5=>>EFL
• -?4EF<G=4O
• ,<D>>4O
• �>?LL>= DG?>=
• �<4?47>= D45>G<E F5<?5D4FGD: >F ­30 p% 4> +80 p%

�D<<D>64==4O E4<>>?5OM4OEO ?5=F4 <7 6E?5=5==>7> 
>4GGG>4 ?D54=47=4G5=4 4?O 75D<5F<74F<< L6>6 < EFO>>6, 
<5EF ?D<<O>4=<O FDG5 < 65=F<?5= > EF5=4<, 4?O <7>?OF<< 
6>74GE>6>4>6, 4?O F5D<><7>?OF<< 6 FDG4=>4>EFG?=OE 
<5EF4E, 4?O 76G>>?>7?>M5=<O (=4?D<<5D, <564G ��� < 
<5F4??<G5E><< ?D>D<?5<), 4?O E>54<=5=<O >DG?=OE ?<EF>6 
<7>?OF<>==OE <4F5D<4?>6. 

�5=F4 4D<<D>64=4 E<=F5F<G5E><<< 6>?>>=4<< 4?O 
?>6OL5=<O ?D>G=>EF< E>54<=5=<O.

• �D>EF>= <>=F46; ?4==5D ?57>> >F45?O5FEO
• ->>=><<F <7>?<DGNM<= <4F5D<4?
• �?47>EF>=>4O
• �OE>>4O 44757<O (>?5=>>EFL): ?D<>?5<645FEO >> 6E5< 

<7>?<DGNM<< <4F5D<4?4<
• &5<?5D4FGD=O= 4<4?47>= >F ­40 p% 4> +105 p%
• �>4E>4<F 4?O =5D>6=OE ?>65DE=>EF5=
• �D<<DGNM<= E?>= ?D<445F 4>?>?=<F5?L=GN ?D>G=>EFL

�=EFDG>F<O ?> ?D<<5=5=<N:

• �G<EF<FL, >5576<D<FL (E?<DF>E>45D64M<<< ED54EF64<< 
4?O =5?>D<EFOE ?>65DE=>EF5=) < 6OEGL<FL E>?5<645<O5 
?>65DE=>EF<.

• �?O >FD57>>6 5>?55 20 E< >F<>F4FL >F DG?>=4 =55>?LL>= 
>FD57>> 7­10 E<, >F>?5<FL 74M<F=GN ??U=>G.

• �D<>?5<FL MF>F >FD57>> =4 ?>65DE=>EFL <, ?>EF5?5==> 
D47<4FO64O DG?>= < >F45?OO ?4==5D, =4=>E<FL ?5=FG 
>FD57>4<< ?> 5­10 E<. 

• �464O= ?D<>?55==O= >FD57>> E<?L=> ?D<64FL =4 
=5E>>?L>> E5>G=4; 4?O 5>?55 ?D>G=>7> E>?5<64=<O 
?D>=F<EL ?D<>4F>G=O< 64?<>><. 

• �5=F4 >5?4445F 6OE>>>= >?5=>>EFLN, ?>MF><G 
D5>><5=4G5FEO >?5<FL E ?5D6>7> D474. �?O >FD57>>6 <5=55 
20 E< >F<>F4FL < >FD574FL E>>F65FEF6GNM<= >FD57>>, 
>F45?<FL ?4==5D, ?D<>?5<FL ?5=FG < E<?L=> ?D<64FL =4 
=5E>>?L>> E5>G=4. �D>=F<EL ?D<>4F>G=O< 64?<>><.

�DF<>G? &65F $47<5D (L × 4), 
<< × < &>?M<=4, <>< %>EF46 &5<?5D4FGD4 

M>E??G4F4F<<, °%
�>?-6> 

6 FD4=E?. >>D., LF.

302­049
GUD=O=

38 × 25

130 ��%, >?5= =4 >E=>65 
=4FGD4?L=>7> >4GGG>4 ­30 4> +80 

42

302­050
48 × 25

36302­179 55?O=

302­194 GUD=O= 48 × 10

�5=FO 4?O 75D<5F<74F<<

302-074

�DF<>G? &65F $47<5D (L × 4), 
<< × <

&>?M<=4, 
<< %>EF46 &5<?5D4FGD4 M>E??G4F4F<<, 

°%
�>?-6> 

6 FD4=E?. >>D., LF.

302­074 GUD=O= 50 × 15 3
6E?5=5==O= >4GGG>,

4>D<?>6O= >?556>= E?>=, 
E<=F5F<G5E><5 6>?>>=4

>F ­40 4> +105 14

�D<<D>64==4O ?5=F4 4?O 75D<5F<74F<< 
<7 6E?5=5==>7> >4GGG>4
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�D>F<6>E>>?L7OM4O >?5=>4O ?5=F4

%<7=4?L=4O ?5=F4 557 >?556>7> E?>O

%65F>>FD464NM4O ?5=F4 ?D54=47=4G5=4 4?O 6O45?5=<O >5N5>F>6, M?5<5=F>6, >>=EFDG>F<= 
< GG4EF>>6, >>F>DO5 4>?6=O >EF464FLEO 74<5F=O<< 6 FU<=>5 6D5<O EGF>>. �5=F4 <>65F 
<E?>?L7>64FLEO 4?O <4D><D>6>< 46<6GM<EEO < EF4F<G=OE >5N5>F>6 < >>=EFDG>F<= 6 65G5D=55 
< =>G=>5 6D5<O. 

%<7=4?L=4O ?5=F4 ?D><76>4<FEO <7 �-&, >F?<G45FEO M?4EF<G=>EFLN < 6OE>><<< ?D>G=>EF=O<< 
?>>474F5?O<<, 6 F>< G<E?5 =4 D47DO6 < D4EFO65=<5, =5 5><FEO =4<>>4=<O, =5 6O7>D45F =4 E>?=F5.

�5=F4 ?D54=47=4G5=4 4?O ?D<>?5<64=<O =4 <5EF4, 745 EGM5EF6G5F D<E> ?>E>4?L7O64=<O. 
�E?>?L7G5FEO 4?O EFG?5=5=, 6 54EE5==4E, 6 E4G=4E, =4 ?5EF=<F4E, =4 ?4=4GE4E, 6 D<F=5E­F5=FD4E < 
F.4. %4<>5 G4EF>5 ?D<<5=5=<5 ?D>F<6>E>>?L7OM5= ?5=FO 4 6E>4=O5 7DG??O (E>>?L7><= >4D5?L 
G 6E>44 6 <4747<=O, ?>4N574O < G4EF=O5 4><4). 

�>?5<645<GN ?>65DE=>EFL =5>5E>4<<> >G<EF<FL >F 7DO7< < ?O?< < >5576<D<FL. &5<?5D4FGD4 
?D< =4=5E5=<< 4>?6=4 5OFL 6OL5 +10 °C. �4F5D<4? =5 5><FEO =<7><E F5<?5D4FGD, 4>64O < E=5­
74, >F?<G45FEO ?>6OL5==>= GEF>=G<6>EFLN > <EF<D4=<N, <>65F 6 F5G5=<5 4?<F5?L=>7> 6D5<5=< 
<E?>?L7>64FLEO 6 <5EF4E E 6OE>>>= ?D>E>4<<>EFLN.

�D54=47=4G5=4 4?O >5>7=4G5=<O >?4E=>EF<, ?D<6?5G5=<O 6=<<4=<O < >7D4645=<O ?>F5=F<4?L=> 
>?4E=OE GG4EF>>6. �E?>?L7G5FEO 4?O >7D4645=<O >5N5>F>6, M?5<5=F>6, >>=EFDG>F<=, GG4EF>>6 < 
F5DD<F>D<=, =4 >>F>DOE ?D>6>4OFEO 75<?O=O5, EFD><F5?L=O5 < D5<>=F=O5 D45>FO, 4 F4>65 4?O 
<4D><D>6>< <5EF 4>D>6=>­FD4=E?>DF=OE ?D><EL5EF6<=, 464D<==OE GG4EF>>6, >F>DOFOE ?N>>6 < 
FD4=L5=, <5EF ?D>6545=<O <4EE>6OE < E?>DF<6=OE <5D>?D<OF<=. 

%<7=4?L=4O ?5=F4 ?D><76>4<FEO <7 ?>?<MF<?5=4 6OE>>>7> 446?5=<O, >F?<G45FEO M?4EF<G=>EFLN < 
6OE>><<< ?D>G=>EF=O<< ?>>474F5?O<<, 6 F>< G<E?5 =4 D47DO6 < D4EFO65=<5, =5 5><FEO =4<>>4=<O, 
=5 6O7>D45F =4 E>?=F5.

�DF<>G? &65F
$47<5D
(L × 4),
<< × <

&>?M<=4, 
<>< %>EF46 &5<?5D4FGD4 

M>E??G4F4F<<, °%
�>?-6> 

6 FD4=E?. 
>>D., LF.

302­111 >D4E=>­
55?O= 48 × 5 300

�-&, 4>D<?>6O= >?556>= 
E?>= =4 >E=>65 D4EF6>D<F5?O, 
E<?<>>=<7<D>64==4O 5G<474

>F ­40 4> +80 24

�DF<>G? &65F
$47<5D 
(L × 4),
<< × <

&>?M<=4, 
<>< %>EF46 &5<?5D4FGD4 

M>E??G4F4F<<, °%
�>?-6> 

6 FD4=E?. 
>>D., LF.

302­018 GUD=O= 25 × 5 760
��%, >>E<4 4?N<<=<O, 

4>D<?>6O= >?556>= E?>= 
=4 >E=>65 D4EF6>D<F5?O, 

E<?<>>=<7<D>64==4O 5G<474
>F ­30 4> +65 36

�DF<>G? &65F
$47<5D
 (L × 4),
<< × <

&>?M<=4, 
<>< %>EF46 &5<?5D4FGD4 

M>E??G4F4F<<, °%
�>?-6> 

6 FD4=E?. 
>>D., LF.

302­011 >D4E=>­55?O= 50 × 200 30 ��� >F ­40 4> +80 36
302-011

302-018

%<7=4?L=4O E65F>>FD464NM4O >?5=>4O ?5=F4

%��&���,�/� ���&/

�DF<>G? &65F $47<5D (L × 4),
<< × <

&>?M<=4, 
<< %>EF46 &5<?5D4FGD4 M>E??G4F4F<<, °% �>?-6> 

6 FD4=E?. >>D., LF.

302­211 E5D55D<EFO= 100 × 10 1

4?N<<=<564O D>?L74 + �-&, 
5GF<?>4GGG>>6O= >?556>= 

E?>=, 74M<F=O= ?4==5D
>F ­30 4> +80 4

�<4D><7>?OF<>==4O 5GF<?>64O ?5=F4 
=4 4?N<<=<56>= >E=>65

�GF<?>4GGG>>64O ?5=F4 ?D54=47=4G5=4 4?O 7<4D><7>?OF<< 
< 75D<5F<74F<< 6E5E 6<4>6 EFO>>6, FD5M<= < ?D<<O>4=<=, 
F4><E >4> >D>65?L=O5 <4F5D<4?O, 6>4>EF>G=O5 E<EF5<O, 
65=F<?OF<>==O5 E<EF5<O, 4O<>E>4O, >>>==O5 < D4E44=O5 
EFO><. 

• �OE>>4O 44757<O > 5>?LL<=EF6G <4F5D<4?>6 (55F>=, ><D?<G, 
L<D5D, <5F4??O, ?>?<>4D5>=4F, 45D56>, G5D5?<F4)

• �D5?<FEO =4 65DF<>4?L=OE ?>65DE=>EFOE
• �>4E>4<F 4?O <7>?OF<< <7>7=GFOE ?>65DE=>EF5=
• 'EF>=G<6>EFL > '$­?GG4<
• ->E??G4F4F<O  >F ­30 °C 4> +80 °C
• %D>> E?G65O 4> 15 ?5F
• �5 ?D>?GE>45F 6?47G

302-211

302-111
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302-193

302-117

302-159

302-212

&5D?>=>64O G??>F=<F5?L=4O ?5=F4 ($'�)

�5=F4 4?O FDG5 ?D54=47=4G5=4 4?O 5OEFD>7> 6D5<5==>7> D5<>=F4 FDG5 (=5 ?>4 446?5=<5<) 
< =55>?LL<E ?D>F5G5>, 4?O 74M<FO ?>65DE=>EF< FDG5 >F 47D5EE<6=OE 6>745=EF6<= 6=5L=5= 
ED54O < 4?O ?D>D<?4>F<>< ?>O6?5=<O >>DD>7<< =4 =5?>6D5645==OE FDG54E, ?>465D65==OE 
F5<?5D4FGD=O< ?5D5?444<.

�5=F4 4?O FDG5 F4>65 ?D<<5=O5FEO 4?O E>?5=>< ��%­7<4D><7>?OF<<, 4?O >5<>F>< F5??><7>?O­
F<< FD4EE >>=4<F<>=5D>6, 4?O 75D<5F<74F<< L?4=7>6, =5 =4E>4OM<EEO ?>4 446?5=<5<, < ?D.

�>D4ND=4O ?5=F4 4 MF> >4=>EF>D>==OO E4<>>?5OM4OEO ?5=F4 4?O 74M<FO ?>65DE=>EF5= 
>F <5E4=<G5E><E ?>6D5645=<=; 4?O 74M<FO EFO>>6 <564G D4>>6<=>= < EF5=>=, ??<F>= < 
EF>?5L=<F5= >F ?>?444=<O 6>4O < 6?47<. �E?>?L7G5FEO 6 >4G5EF65 5>D4ND4 6>>DG7 64==O, 
D4>>6<=O, G=<F474, 4 F4>65 ?>4E>4<F 4?O 74>?5<64=<O >>>=.

• �D>7D4G=4O
• �?47>EF>=>4O
• %>D>L> 75D<5F<7<DG5F
• �4M<M45F >F 7DO7<
• 'EF>=G<64O > F4D4?<=4<

$'�­?5=F4 =4 >E=>65 DF>D>??4EF4 L<D>>> <E?>?L7G5FEO 4?O G??>F=5=<O < 75D<5F<74F<< 
=<??5?L=OE, D?4=F56OE, D57L5>6OE E>54<=5=<= ?D< 6O?>?=5=<< 6>EEF4=>6<F5?L=OE, 
E4=F5E=<G5E><E, <>=F46=OE D45>F, 4?O D5<>=F4 6>4>?D>6>4=OE, F5??>6OE, >4=4?<74F<>==OE 
< 4DG7<E E5F5=, D45>F4NM<E ?>4 446?5=<5<. � 5OFG >E=>6=>5 ?D<<5=5=<5 G??>F=<F5?L=>= 
?5=FO $'� 4 MF> 75D<5F<74F<O D57L5>6OE E>54<=5=<= ?D< ?D>6545=<< E4=F5E=<G5E><E 
D45>F. �5=F4 <>65F M>E??G4F<D>64FLEO 6 F5<?5D4FGD=>< 4<4?47>=5 4> +230 °%.

�5=F4 >F?<G45FEO 6OE>>>= F5D<<G5E>>= < <5E4=<G5E>>= ?D>G=>EFLN. &5D?>=>64O ?5=F4 =5 
F5DO5F M>E??G4F4F<>==OE >4G5EF6 ?>4 6>745=EF6<5< 6OE>>>= F5<?5D4FGDO < E<<<G5E>< 
47D5EE<6=OE ED54, =5 D6UFEO ?D< =4FO65=<< < =5 D4EFD5E><645FEO.

�DF<>G? &65F $47<5D
(L × 4), <

&>?M<=4, 
<>< %>EF46 &5<?5D4FGD4 

M>E??G4F4F<<, °%
�>?-6> 

6 FD4=E?. >>D., LF.

302­193 E5DO= 48 × 10 130 ��%, >4GGG>>6O= 
>?5= >F ­30 4> +80 36

�DF<>G? &65F $47<5D (L × 4),
<< × <

&>?M<=4, 
<>< %>EF46 &5<?5D4FGD4 

M>E??G4F4F<<, °%
�>?-6> 

6 FD4=E?. >>D., LF.

302­117
55?O=

12 × 10 75
DF>D>??4EF >F ­190 4> +230 

200

302­159 19 × 15 120 100

�5=F4 4?O FDG5

�D>7D4G=4O 5>D4ND=4O ?5=F4

302-033

302-104

�>D4ND=O5 E4<>>?5OM<5EO ?5=FO 4?O D4>>6<= < 64== 

�>D4ND=4O ?5=F4 <E?>?L7G5FEO 4?O 75D<5F<74F<< 64==, D4>>6<=, 4GL56OE >45<=, 
464>G7<, >GE>=L.

�4 ?5=FG =4=5EU= E?5F<4?L=O= 5GF<?>6O= >?5=, >>F>DO= E>45D6<F 4>546><, 
?D5?OFEF6GNM<5 >5D47>64=<N 7D<5>4 < ??5E5=<. �?556>= E>EF46 =4=5EU= ?> 6E5= 
L<D<=5 ?5=FO, GF> ?>76>?O5F ?D<>?5<FL ?5=FG ?> 6E5= ??>M44< E>?D<>>E=>65=<O < 
<E>?NG<FL 5U ?D56456D5<5==>5 >FE?4<64=<5 < 6>7<>6=O5 ?D>F5G><.

�>=F46 ?5=FO <>6=> ?D>65EF< E4<>EF>OF5?L=> 557 E?5F<4?L=OE <=EFDG<5=F>6.

�DF<>G? &65F $47<5D (L × 4),
<< × < %>EF46 &5<?5D4FGD4 

M>E??G4F4F<<, °%
�>?-6> 

6 FD4=E?. >>D., LF.

302­032

55?O=

38 × 3,35

���, 5GF<?>6O= 
>?5=, 74M<F=4O 

??U=>4
>F ­40 4> +90

10

302­033 60 × 3,35 8

302­095 12,8 × 3,35 20

302­104 38 × 3,35 10

�DF<>G? &65F $47<5D (L × 4),
<< × <

&>?M<=4,
<< %>EF46 �>?-6> 6 FD4=E?. >>D., LF.

302­212 ?D>7D4G=. 50 × 5 0,5 �-&, 4>D<?>6O= >?5= 
557 D4EF6>D<F5?5= 24



2726

%
�

�
�

�
�

�/
-

�
�

%
/

 �
$

.
'

�
�

 �
 �

�
%

�
%

%
'

�
$

/

%������/-��%/ 
�$.'�� 
� ��%�%%'�$/
%4<>>?5OM<5EO >DNG>< < 45D64F5?< 4 MF> E<EF5<4 
?D>EF>7> < =44U6=>7> >D5??5=<O D47?<G=OE 
4>E5EEG4D>6 E 6>7<>6=>EFLN 55EE?54=>7> G44?5=<O < 
?>6F>D=>7> <E?>?L7>64=<O (74 <E>?NG5=<5< 302­170).

�5D64F5?< 4?O ?D>6>4>6 < 7<D?O=4 ?D54=47=4G5=O 
4?O D<>E4F<< 7<D?O=4 =4 D47?<G=O5 65DF<>4?L=O5 
< 7>D<7>=F4?L=O5 ?>65DE=>EF<, =4?D<<5D, >>>==O5 
D4<O. �?O ?>65DE=>EF5= 55?>7> F65F4 D5>><5=4G5< 
<E?>?L7>64FL 45D64F5?< E 55?O<< >?556O<< ?>?>E>4<< 
(302­108), 4?O >EF4?L=OE ?>65DE=>EF5= 3 45D64F5?< 
E ?D>7D4G=O<< >?556O<< ?>?>E>4<< (302­202). 
�5D64F5?< <>6=> 55EE?54=> G44?<FL E ?>65DE=>EF<, 
?>FO=G6 74 O7OG>> >?556>= ?>?>E><.

�4EF5==O= %'��$�$.'�� ?>4E>4<F 4?O <E?>?L7>64=<O 
>4> 6 >D<E4E, F4> < 6 5OFG, 6 F>< G<E?5 6 64==OE >><=4F4E 
< =4 >GE=5. �4 >DNG>> <>6=> 65L4FL ?N5O5 ?D54<5FO 
<4EE>= =5 5>?55 10 >7: ?>?>F5=F4, >?NG<, >45644, EG<>< 
< ?D. �D>7D4G=O= E4<>>?5OM<=EO >DNG>> ?>4E>4OF 
4?O E?54GNM<E ?>65DE=>EF5=: >4D5?L, ??4EF<>, EF5>?>, 
>>D4L5==O5 ?>65DE=>EF<, =5>>F>DO5 6<4O >5>56, 
45D56O==O5 < 4DG7<5 F6UD4O5 ?>65DE=>EF<.

�DF<>G? &65F $47<5D 
(L × 4), E< �><??5>F �47DG7>4, 

>7 %>EF46 �>?-6> 6 FD4=E?. 
>>D., G?4>.

302­202

?D>7D4G.
1,8 × 1,2 20 45D64F5?5= + 24 ?>?>E>< 4> 0,5 ABS, -��, E<=F5F<G5E><= >4GGG> 60

302­108

302­170 8 × 8 1 >DNG>>     4> 10 ABS, E<=F5F<G5E><= >4GGG> 48

302-108 302-170302-202
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�><5=F4?L=O5 EG?5D>?5< «%��'���» 
=4 >E=>65 F<4=>4>D<?4F4 >F65G4NF 
E4<O< 6OE>><< FD55>64=<O< ?> 
E>>D>EF< < =44U6=>EF< E>?5<64=<O 
>4> 4?O >5OG=OE ?>?L7>64F5?5=, F4> 
< 4?O ?D>D5EE<>=4?>6. �>76>?ONF 
<7=>65==> < >4G5EF65==> E>54<=<FL 
D47?<G=O5 <4F5D<4?O, F4><5 >4> 
<5F4??, 6<=<?, ??4EF<4EE4, D57<=4, 
>5D4<<>4, D4DD>D, 45D56>, >4DF>=, 
>>64, ?D>5>4, �%�. 

�����&��,�/� 
����

%��&���,�/� 
����
% ?><>MLN MF>= 7DG??O >?5OM<E 
ED54EF6 EF4=>6<FEO 6>7<>6=O< 6O­
?>?=<FL 5OEFDO= < >4G5EF65==O= 
<5?><= D5<>=F E6><<< E<?4<<. �4­
?D<<5D, 5E?< =5>5E>4<<> ?D<>?5<FL 
>5D4F=> 6O?46L<= ?>?G4D47>F5=­
=O= >4<5=L <7 5D>L<, E>54<=<FL 
EFO>< ?<=>?5G<4 <?< 4>?>?=<F5?L=> 
74>D5?<FL ?>E44>G E4<>D57>6 4 
?D>EF> 6O55D<F5 =5>5E>4<<O= ?D>­
4G>F <7 E5D<< E?5F<4?L=OE >?5U6 
«%��'���».

'����$%��,�/� 
����
'=<65DE4?L=O5 >?5< «%��'���» =5­
74<5=<<O 4?O >E=>6=OE D45>F ?> 
E>?5<64=<N 6 4><4L=<E GE?>6<OE < 
=4 D45>F5. �D<<5=ONFEO 4?O <5?>>7> 
5OF>6>7> D5<>=F4, 6O?>?=5=<O F6>D­
G5E><E D45>F < <>45?<D>64=<O.
�?5< «%��'���» ?D>G=> E>?5<64NF 
5>?LL<=EF6> <4F5D<4?>6: 45D56>, 
5G<47G, >4DF>=, >>6G, F>4=L, <5F4??, 
??4EF<4EEG, D57<=G, EF5>?>, ?D>5>G < 
<=>7>5 4DG7>5. �?556>5 E>54<=5=<5 
GEF>=G<6> > 45=EF6<N 6>4O, =5­
>>=F5=FD<D>64===OE ><E?>F, E>?5= 
< M5?>G5=. -?4EF<G=>5 E>54<=5=<5 
>><?5=E<DG5F =4FO65=<5 <4F5D<4?>6.

%?5F<4?L=O= <5F4??<G5E><= EF5D65=L 6=GFD< 
>>??4G>4 75D<5F<G=> 74>DO645F FN5<>, 4 F4>65 
?D54>F6D4M45FEO 74EOE4=<5 >?5O 6 =>E<>5 FN5<>4. 
�>??4G>> ?>76>?O5F G44?<FL 74M<F=GN <5<5D4=G 
?D>EFO< ?>6>D>F>< =4E44>< ?> G4E>6>= EFD5?>5. 
&4>4O >>=EFDG>F<O G<5=LL45F D<E> ?>?444=<O >?5O 
=4 DG>< <?< >4564G.

'��/� �����'��

�����&��,�/� 
����

$>D<G?4 >?556>7> E>EF464 
QUICK TIME >55E?5G<645F 
<7=>65==>5 E>54<=5=<5 
<4F5D<4?>6, >>F>D>5 E>ED4=O5F 
E6>N ?D>G=>EFL 6 F5G5=<5 
4?<F5?L=>7> 6D5<5=<.
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E?5F<4?L=O= 
<5F4??<G5E><= 
EF5D65=L 
?D54>ED4=O5F 
>F 6OEOE4=<O

?>65D=GFL 
?> G4E>6>= 
EFD5?>5 
4?O G44?5=<O 
74M<F=>= 
<5<5D4=O
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�DF<>G? &65F '?4>>6>4 �4F5D<4?O �D5<O ?>?=>7> 
EE64FO64=<O, G.

&5<?5D4FGD4 
M>E??G4F4F<<, °%

�>?-6> 
6 5>>E5, LF.

�>?-6> 
6 >>D>5., LF.

403­107

?D>7D4G.

3 7 / ?5=F4 (12 LF.)

??4EF<4EE4, 6<=<?, 
>5D4<<>4, D4DD>D, 

<5F4??, 45D56>, 
>4DF>=, �%�, >>64, 

>>674<5=<F5?L, 
D57<=4

1
>F ­40 4> +80 3

288403­103 3 7 / ?<EF (12 LF.)

403­205 1 7 / 5?<EF5D­>4DF4 (16 LF.)

403­234 20 7 / <=4. >>D. 20

403­110 3 7 / 5?<EF5D / L>G­5>>E 12 144

403­110403­103 403­205403­107 403­234

�
�

�
�

�
&�

�
,

�
/

�
 �

�
�

�

�DF<>G? &65F '?4>>6>4 �4F5D<4?O �D5<O ?>?=>7> 
EE64FO64=<O, G.

&5<?5D4FGD4 
M>E??G4F4F<<, °%

�>?-6> 
6 5>>E5, LF.

�>?-6> 
6 >>D., LF.

403­111

?D>7D4G.

3 7 5?<EF5D / L>G­5>>E <5F4??, ??4EF<4EE4, 
45D56>, D57<=4, >>64, 
>4DF>=, D4DD>D, F>4=L, 

>5D4<<>4, 5G<474
24 >F ­40 4> +80

12 144

403­176 3 7 / ?5=F4 (12) 3 288

�><5=F4?L=O5 >?5<

�><5=F4?L=O5 >?5<-75?<, 3 7

�?47>44DO 75?5>5D47=>= >>=E<EF5=F<< <><5=F4?L=O= >?5=­75?L «%��'���» 
?D54>EF46?O5F DO4 4>?>?=<F5?L=OE 6>7<>6=>EF5=. �5 D4EF5>45FEO < =5 
>4?45F, 4>>GD4F=> E>?5<64O E?>6=O5 45F4?<, ?>76>?O5F >>DD5>F<D>64FL 
?D<>?55==GN 45F4?L 6 F5G5=<5 30 E5>G=4 =4 ?>65DE=>EF<. �454?5= 4?O 
?D<>?5<64=<O > 65DF<>4?L=O< ?>65DE=>EFO<. �E?>?L7G5FEO 4?O E>54<=5=<O 
<745?<= < 45F4?5=, <77>F>6?5==OE <7 D47?<G=OE <4F5D<4?>6, F4><E >4> <5F4??, 
<=>7>E?>==O5 ??4EF<4EEO, 6<=<?, D57<=4, >5D4<<>4, 45D56>, D4DD>D, >4DF>=, 
>>64 < >>674<5=<F5?<, ?D>5>>6>5 45D56> < �%�. �4=>E<FL >?5=­75?L E?54G5F 
F>=><< E?>5<.

�><5=F4?L=O5 >?5< =4 >E=>65 F<4=>­
4>D<?4F4 ?D54=47=4G5=O 4?O <><5=F4?L=>7> 
E>?5<64=<O ?N5OE F6UD4OE =5?>D<EFOE 
?>65DE=>EF5=. �?5= D5>><5=4G5FEO =4=>E<FL 
F>=><< E?>5<. �5 ?>4E>4<F 4?O E>?5<64=<O 
<745?<= <7 %�, F5??N?>7O, ?>?<MF<?5=4, 
E<?<>>=4 < DF>D>??4EF4. �5 4>?GE>4FL 45F5= 
> D45>F5 E <><5=F4?L=O<< >?5O<< 557 
?D<E<>FD4. �EF4F>< >?5O <>6=> G44?<FL E 
?><>MLN �=F<>?5O (403-230).

403­111 403­176
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�DF<>G? &65F '?4>>6>4 �4F5D<4?O �D5<O D54>F<<, 
<<=.

&5<?5D4FGD4 
=4=5E5=<O, °%

�>?-6> 
6 5>>E5, LF.

�>?-6> 
6 >>D>5., LF.

403­230 ?D>7D4G. 5 7 5?<EF5D / 
L>G­5>>E

<5F4??, <=>7>E?>==O5 
??4EF<4EEO, 6<=<?, 

D57<=4, >5D4<<>4, 45D56>, 
D4DD>D, >4DF>=, >>64 < 

>>674<5=<F5?<, ?D>5>>6>5 
45D56> < �%�

30­60 >F +5 4> +35 12 144

403­230

'44?<F5?L >?5O ��&�����, 5 7

�D54=47=4G5= 4?O G44?5=<O >EF4F>>6 F<4=>­
4>D<?4F=>7> >?5O E D47?<G=OE ?>65DE=>EF5=. 
�=F<>?5= =5 ?>6D56445F 5>?LL<=EF6>  ?>65DE=>EF5=, 
F4><5 >4> <5F4??, 6<=<?, D57<=G, 45D56>, D4DD>D, 
<5?>>?>D<EFO5 >4DF>= < F>4=<, >>6G < >>674<5=<F5?L, 
�%�. �D< D45>F5 E ?>65DE=>EFO<< E =57DG=F>64==O< 
��� < E =5>>F>DO<< 6<44<< ??4EF<>4 6 =4G4?5 
D45>FO D5>><5=4G5FEO ?D>65D<FL 45=EF6<5 �=F<>?5O 
=4 =55>?LL>< =574<5F=>< GG4EF>5. '44?<F5?L >?5O 
45E>?NF=> 557>?4E5= 4?O >>6< DG> G5?>65>4. 

�?O G44?5=<O >?5O =4=5EF< �=F<>?5= < >EF46<FL =4 30­
60 <<=GF 6 746<E<<>EF< >F >>?<G5EF64 >?5O < F>?M<=O 
E?>O. �=F<>?5= ?>EF5?5==> D4EF6>DO5F >EF4F>< >?5O. 
�D<5?<7<F5?L=O= D4EE>4 �=F<>?5O 3:1.

�DF<>G? &65F '?4>>6>4 �4F5D<4?O �D5<O ?>?=>7> 
EE64FO64=<O, G.

&5<?5D4FGD4 
M>E??G4F4F<<, °%

�>?-6> 
6 5>>E5, LF.

�>?-6> 
6 >>D>5., LF.

403­231 ?D>7D4G. 3 7 5?<EF5D / 
L>G­5>>E

>>674<5=<F5?L, D57<=4, 
F>4=L, ��%,

>>64, ?>?<GD5F4=
24 >F ­30 4> +50 10 60

403­231

�><5=F4?L=O= >5G6=>= >?5=, 3 7

�5G6=>= >?5= ?D54=47=4G5= 4?O 5OEFD>7> D5<>=F4 
>5G6<. �><5=F4?L=> E>?5<645F 6 D47?<G=OE E>G5F4=<OE 
>><?>=5=FO, >>F>DO5 ?D<<5=ONFEO ?D< <77>F>6?5=<< 
>5G6<: E<=F5F<G5E><5 <4F5D<4?O (D57<=4, ��%, ?>?<­
GD5F4=O, >>674<5=<F5?<); =4FGD4?L=O5 <4F5D<4?O 
(>>64, F>4=L < F.4.). �?47>44DO E6>5= >>=E<EF5=F<< < 
G4>5=><G FN5<>G =5 F5GUF, =5 >4?45F ?D< =4=5E5=<<. 
� >F?<G<5 >F <><5=F4?L=OE >?5U6 6 >5G6=>= >?5= 
4>546?5=O >4GGG>>6O5 E>54<=5=<O, >>F>DO5 ?D<44NF 
E>?5<645<O< ?>65DE=>EFO< 7<5>>EFL < ?D>G=>EFL. 
'=<>4?L=4O >?5564O D>D<G?4 ?>76>?O5F E>?5<64FL 
<5EF4 ?>6D5645=<O «EFO> 6 EFO>», GF> ?>76>?O5F 
>FD5<>=F<D>64FL 4465 E4<GN 557=44U6=> <E?>DG5==GN 
>5G6L. � >F?<G<5 >F >5OG=>7> G=<65DE4?L=>7> >?5O 
<><5=F4?L=O= >?5= <7=>65==> E>?5<645F < =5 
FD55G5F 4?<F5?L=>= 6O45D6>< E>?5<645<>7> <5EF4 
?>4 446?5=<5<. �745?<5< <>6=> ?>?L7>64FLEO G5D57 
5 <<=GF. �5 ?>4E>4<F 4?O E>?5<64=<O <745?<= <7 
?>?<MF<?5=4, E<?<>>=4 < DF>D>??4EF4. �5 4>?GE>4FL 
45F5= > D45>F5 E <><5=F4?L=O<< >?5O<< 557 
?D<E<>FD4. �EF4F>< >?5O <>6=> G44?<FL E ?><>MLN 
�=F<>?5O.
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'����$%��,�/� ����

'=<65DE4?L=O= >D<EF4?L=> ?D>7D4G=O= >?5=, 30 <?

�DF<>G? &65F '?4>>6>4 �4F5D<4?O �D5<O ?>?=>7> 
EE64FO64=<O, G.

&5<?5D4FGD4 
M>E??G4F4F<<, °%

�>?-6> 
6 5>>E5, LF.

�>?-6> 
6 >>D., LF.

403­108

?D>7D4G.

30 <? 5?<EF5D / L>G­5>>E <5F4??, ??4EF<4EE4, 6<=<?, 
D57<=4, >5D4<<>4, 45D56>, 

D4DD>D, >4DF>=, >>64 < 
>>674<5=<F5?<, ?D>5>>6>5 

45D56> < �%� 24 >F ­20 4> +50

12 72

403­232 30 <? / L>G­5>>E 10 60

403­227 30 <? / 5?<EF5D / L>G­
5>>E

>>64, >>674<., D57<=4, 
F5D<>M?4EF>??4EF, ??4EF<>, 
?>?<6<=<?E?>D<4, 6>=?>>, 
F>4=<, ?D>5>. 45D56> < 4D.

12 36

403­233 30 <? / L>G­5>>E 10 60

�D54=47=4G5= 4?O E>?5<64=<O 6 D47?<G=OE E>G5F4=<OE ?>65DE=>EF5= <7 45D564, 
<5F4??4, ��%, ?>?<EF<D>?4, >D7EF5>?4, D57<=O, >>6<, D4DD>D4, D57<=O, EF5>?4, 
>5D4<<><. �454?L=> ?>4E>4<F 4?O ?D<>?5<64=<O 7<5>>= ?>65DE=>EF< > 6UEF>>=. 
�?5= <<55F ?D>7D4G=O= F65F < >F=>E<FEO > >>=F4>F=O< >?5O< =4 ?>?<GD5F4=>6>= 
>E=>65 E 4>546?5=<5< D4EF6>D<F5?5=. �4EFO6L<= >?5= >5D47G5F 6?47>EF>=>>5 
E>54<=5=<5.

'F>5O E>?5<FL ?>65DE=>EF<, =4=5EF< >?5= F>=><< E?>5< =4 >4=G ?>65DE=>EFL, 
>EF46<FL =4 10­15 <<=GF, E>54<=<FL ?>65DE=>EF< =4 60 E5>G=4. $5>><5=4G5FEO 
?><5EF<FL E>?5<645<O5 ?>65DE=>EF< ?>4 ?D5EE =4 24 G4E4 (>5O74F5?L=> 4?O 
E>?5<64=<O 5>?LL<E GG4EF>>6). �?O E<?L=> ?>D<EFOE ?>65DE=>EF5= =4=5EF< 6 464 
E?>O E <=F5D64?>< 5 <<=GF.

�?5= =5 ?>4E>4<F 4?O E>?5<64=<O ?>?<?D>?<?5=4, ?>?<MF<?5=4, F5D?>=4, E<?<>>=4, 
6>E>>6OE < <4E?O=<EFOE ?>65DE=>EF5=.403­108 403­232

'=<65DE4?L=O= 5OEFDO= >?5=, 30 <?

'=<65DE4?L=O= >?5= 88, >E>5>?D>G=O= 
6>4>EF>=><=, 30 <?

'=<65DE4?L=O= >5G6=>= >?5=, 30 <?

�D54=47=4G5= 4?O E>?5<64=<O ?N5OE F6UD4OE < =5 
E<?L=> ?>D<EFOE <4F5D<4?>6, =4?D<<5D, 45D56>, ��%, 
>5D4<<>4, D57<=4, >>64, <5F4?? < 4D. �?5= >F=>E<FEO > 
7DG??5 >>=F4>F=OE >?5U6 =4 E?>D>?D5=>6>= >E=>65; 6 
E>EF46 6E>4OF E<>?O < D4EF6>D<F5?<. 

'F>5O E>?5<FL ?>65DE=>EF<, =4=5EF< >?5= F>=><< E?>5< 
=4 >4=G ?>65DE=>EFL, >EF46<FL =4 3­5 <<=GF, E>54<=<FL 
?>65DE=>EF< =4 60 E5>G=4. $5>><5=4G5FEO ?><5EF<FL 
E>?5<645<O5 ?>65DE=>EF< ?>4 ?D5EE =4 12 G4E>6. 
'4?<=U==O= =>E<> >5?57G45F ?D>F5EE =4=5E5=<O >?5O. 
�?5= <<55F 65?F>64FO= F65F.

�D54=47=4G5= 4?O E>?5<64=<O ?N5OE F6UD4OE 
< ?>D<EFOE <4F5D<4?>6, =4?D<<5D, 45D56>, ��%, 
>5D4<<>4, D57<=4, >>64, <5F4?? < 4D. �?5= >F=>E<FEO 
> 7DG??5 >>=F4>F=OE >?5U6 =4 E?>D>?D5=>6>= >E=>65; 
6 E>EF46 6E>4OF E<>?O < D4EF6>D<F5?<. �?5= 88 >5D47G5F 
E65DE?D>G=>5 E>54<=5=<5 5?47>44DO G65?<G5==><G 
E>45D64=<N E<>? 6 E>EF465 ?D>4G>F4. 

'F>5O E>?5<FL ?>65DE=>EF<, =4=5EF< >?5= F>=><< 
E?>5< =4 >4=G ?>65DE=>EFL, >EF46<FL =4 10­15 <<=GF, 
E>54<=<FL ?>65DE=>EF< =4 60 E5>G=4. $5>><5=4G5FEO 
?><5EF<FL E>?5<645<O5 ?>65DE=>EF< ?>4 ?D5EE 
=4 24 G4E>6.  '4?<=U==O= =>E<> >5?57G45F ?D>F5EE 
=4=5E5=<O >?5O. �?5= <<55F 65?F>64FO= F65F. 
%>54<=5=<O ?>E?5 6OEOE4=<O EF4=>6OFEO 6?47>­ < 
'$­GEF>=G<6O<<.

�D54=47=4G5= 4?O D5<>=F4 < E>?5<64=<O >5G6< <7 D47?<G=OE <4F5D<4?>6: >>64, 
>>674<5=<F5?L, D57<=4, ??4EF<>, 6>=?>>, F>4=L < 4D. �?5= <<55F ?D>7D4G=O= 
F65F < >F=>E<FEO > >>=F4>F=O< >?5O< =4 ?>?<GD5F4=>6>= >E=>65 E 4>546?5=<5< 
D4EF6>D<F5?5=. �4EFO6L<= >?5= >5D47G5F 6?47>EF>=>>5 E>54<=5=<5.

'F>5O E>?5<FL ?>65DE=>EF<, =4=5EF< >?5= F>=><< E?>5< =4 >4=G ?>65DE=>EFL, 
>EF46<FL =4 10­15 <<=GF, E>54<=<FL ?>65DE=>EF< =4 60 E5>G=4. $5>><5=4G5FEO 
?><5EF<FL E>?5<645<O5 ?>65DE=>EF< ?>4 ?D5EE =4 24 G4E4. �?O E<?L=> ?>D<EFOE 
?>65DE=>EF5= =4=5EF< 6 464 E?>O E <=F5D64?>< 5 <<=GF. '4?<=U==O= =>E<> 
>5?57G45F ?D>F5EE =4=5E5=<O >?5O.

�DF<>G? &65F '?4>>6>4 �4F5D<4?O
�D5<O ?>?=>7> 
EE64FO64=<O, 

G.

&5<?5D4FGD4 
M>E??G4F4F<<, 

°%

�>?-6> 
6 5>>E5, 

LF.

�>?-6> 
6 >>D., 

LF.

403­197

65?F>64FO= 30 <? / L>G­5>>E

EF5>?>, 45D56>, >5D4<<>4, >>64, 
>4DF>=, F>4=L < 4D. 12 >F ­20  4> +50

10 60

403­210
D57<=4, >>64, 45D56>, ??4EF<>, 

>4DF>=, ?D>5>. 45D56>, >5D4<<>4 
< 4D.

24 >F ­20 4> +70

403­197

403­233403­227

403­210 '
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403-073

�?5= ��� EF>?OD=O=, 60 7

�D54=47=4G5= 4?O E>?5<64=<O 6 ?N5OE 
E>G5F4=<OE <4F5D<4?>6 < <745?<= <7 45D564, 
5G<47<, D4=5DO, ��� < �%�. �E?>?L7G5FEO 
?D< D5<>=F5 45D56O==OE <745?<=, 6 F>< 
G<E?5 <555?<, ?D< ?D<>?5<64=<< =4?>?L=OE 
?>>DOF<=.

�?5= ��� D5>><5=4G5FEO ?D< D45>F4E E> 
L?>=>< < ?4<<=4F><, 4?O ?D<>?5<64=<O 
> 45D56O==>= >E=>65 5G<47<, >4DF>=4, 
?>D>?>=4, F>4=5=, ?>D<EFOE ??4EF<>>6, >>6< 
< >>674<5=<F5?O. �?5= ?D4>F<G5E>< =5 <<55F 
74?4E4, D45>FO <>6=> ?D>6>4<FL 6 74>DOF>< 
?><5M5=<< 557 GM5D54 4?O 74>D>6LO.

�?5= EF>?OD=O= ?>4E>4<F 4?O ?>4>?5<64=<O 
>5>56 < G4EF> <E?>?L7GNF 4?O D<>E4F<< 
E4<>D57>6.

�D5<O EE64FO64=<O 4 30 <<=GF.

�DF<>G? &65F '?4>>6>4 �4F5D<4?O �D5<O ?>?=>7> 
EE64FO64=<O, G.

&5<?5D4FGD4 
M>E??G4F4F<<, °%

�>?-6> 
6 5>>E5, LF.

�>?-6> 
6 >>D., LF.

403­203 ?D>7D4G. 75 <? >>D>5>4 ABS­??4EF<>, ?<=>?5G<, >D7EF5>?>, 
��%­??<F>4, ��%­FDG5O 24 >F ­20 4> +60 18 54

�DF<>G? &65F '?4>>6>4 �4F5D<4?O �D5<O ?>?=>7> 
EE64FO64=<O, G.

&5<?5D4FGD4 
M>E??G4F4F<<, °%

�>?-6> 
6 5>>E5, LF.

�>?-6> 
6 >>D., LF.

403­073 55?O= 60 7 5?<EF5D / 
L>G­5>>E

�%�, ���, 45D56>, D4=5D4, 
?>D>?>=, 5G<474, >4DF>=, ??4EF<>, 

F>4=L, >>64, >>674<5=<F5?L
6324 >F ­35 4> +60 12 48

403-203

�D54=47=4G5= 4?O E>?5<64=<O <745?<= <7 F65D4OE ��%­<4F5D<4?>6 (>4=4?<74F<>==O5 
< 6>4>?D>6>4=O5 FDG5O, 65?>54, D4E44=O5 >>=EFDG>F<<), ?<=>?5G<4 < D47?<G=OE 
<745?<= <7 ABS­??4EF<>4. �>4E>4<F 4?O D5<>=F4 6=GFD< < 6=5 ?><5M5=<=. �?5= <<55F 
?D>7D4G=O= F65F.

�?5= <>6=> <E?>?L7>64FL 4?O 74?>?=5=<O FD5M<= < =55>?LL<E >F65DEF<= 6 ?D54<5F4E 
<7 <5F4??>6, ??4EF<>>6, >4<=O, 45D564. �5D47G5F =574<5F=O= 6>4>=5?D>=<F45<O= 
L>6, ?>MF><G ?>4E>4<F 4?O D5<>=F4 45F4?5=, =4E>4OM<EEO 6 >>=F4>F5 E 6>4>= <?< ?>4 
6>745=EF6<5< 6?46=>EF<.

�D5<O EE64FO64=<O 6 G4E>6, 6D5<O ?>?=>7> 6OEOE4=<O E>EF46?O5F 24 G4E4.

%?>E>5 ?D<<5=5=<O:
1.  �G<EF<FL < >5576<D<FL E>?5<645<O5 ?>65DE=>EF<.
2.  %=OFL >>??4G>>, =4=5EF< >?5= =4 >55 ?>65DE=>EF< < E>54<=<FL. �4>DOFL FN5<>.
3.  �745?<5 <>6=> <E?>?L7>64FL G5D57 6 G4E>6.

�4=>7> FN5<>4 75 <? E64F45F =4 2,5 < (?>?>E>4 L<D<=>= 1 <<).

�=<<4=<5: D45>FO E >?55< >EGM5EF6?OFL 6 E>D>L> ?D>65FD<645<>< ?><5M5=<<.
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�DF<>G? &65F '?4>>6>4 �4F5D<4?O �D5<O ?>?=>7> 
EE64FO64=<O, G.

&5<?5D4FGD4 
M>E??G4F4F<<, °%

�>?-6> 
6 5>>E5, LF.

�>?-6> 
6 >>D., LF.

403­115 ?D>7D4G. 3 <? + 3 <? 
 5?<EF5D / L>G­5>>E

�%�, 45D56>, 55F>=, >5D4<<>4, 
>4<5=L, ?<=>?5G<, <5F4?? 
(65?57>, F<=>, 4?N<<=<=), 

>D7EF5>?>
24 >F ­40 4> +120 12 72

-?>>E<4=O= >?5= 6 L?D<F5, 3+3 <?

�6GE>><?>=5F=O= M?>>E<4=O= >?5= ?D54=47=4G5= 
4?O E>54<=5=<O D47?<G=OE E>G5F4=<= <5F4??>6, 
45D564, �%�, 55F>=4, >5D4<<><, ?<=>?5G<4, F>4=5=, 
>D7EF5>?4 < 4DG7<E <4F5D<4?>6. �>65F ?D<<5=OFLEO 
4?O 74?<6>< <5?><E FD5M<=, E>>?>6 < 4DG7<E >5NU<=OE 
?>6D5645=<=, F4> >4> >5?4445F E>D>L5= F5>GG5EFLN < 
E65DE5OEFDO< 74F65D4564=<5<. 

�?5= 6 74EFO6L5< E>EF>O=<< GEF>=G<6 > 47D5EE<6=O< 
ED544< (6>44, <4E?4, D4EF6>D<F5?<), 6O45D6<645F 
F5<?5D4FGDG 4> +120 °C (>D4F>>6D5<5==> 4> +150 °C). 

�?47>44DO E?5F<4?L=>= >>=EFDG>F<< 46>==>7> L?D<F4 
EF4?> 6>7<>6=O< 5OEFD>, ?D>EF> < D46=><5D=> 
4>7<D>64FL >><?>=5=FO >?5O.
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403­115

%?>E>5 ?D<<5=5=<O:
1. �G<EF<FL, 6OEGL<FL < >5576<D<FL E>?5<645<O5 ?>65DE=>EF<.
2. '44?<FL ?D54>ED4=<F5?L=GN ?5D5<OG>G, D4E?>?>65==GN =4 ?>DL=5 L?D<F4, < 74M<F=O5 >>??4G>< =4 >>=F4E 
4>74F>D>6.
3. �O446<FL ?>DL=5< =5>5E>4<<>5 >>?<G5EF6> >><?>=5=F>6 >?5O < FM4F5?L=> <E ?5D5<5L4FL.
4. � >4G5EF65 E>EG44 4?O E<5L<64=<O <>6=> <E?>?L7>64FL ??4EF<>>6GN G4EFL G?4>>6>< 5?<EF5D4. 
5. �4=5EF< >?5= =4 >4=G <7 E>?5<645<OE ??>M445= <?< 74?<FL E<5EL 6 =5>5E>4<<GN D>D<G. �D<64FL 4DG7 > 4DG7G 
E>D5??O5<O5 ?>65DE=>EF< < 74>D5?<FL <E 6 F4>>< E>EF>O=<< =4 3 <<=GFO.
6. �D< >><=4F=>= F5<?5D4FGD5 E>?55==O< ?D54<5F>< <>6=> ?>?L7>64FLEO G5D57 20­30 <<=GF.
�>?=>5 >F65D4564=<5 ?D><EE>4<F G5D57 16­24 G4E4. � E?GG45 <E?>?L7>64=<O >?5O ?D< =<7><E F5<?5D4FGD4E 6D5<O 
6OEOE4=<O G65?<G<645FEO.
7. &5<?5D4FGD4 M>E??G4F4F<< 7>F>6>7> E>54<=5=<O 4 >F ­40 °C 4> +120 °C.
8. 'F>5O 6=>6L 74?5G4F4FL L?D<F E >?55<, E?54G5F E?57>4 >FFO=GFL =4744 ?>DL5=L, >G<EF<FL >>=FO L?D<F>6 < 74>DOFL <E 
74M<F=O<< >>??4G>4<<.
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